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STJS¥I/INSTRUCTIONS

The question paper is in the form of Question Booklet with 50 questions. Separate OMR sheet is
provided for answering.

Question booklets have been marked with A or B or C or D or E on the right hand top corner which shall
be written on the OMR sheet in the box and bubble appropriately.

Each question is provided with multiple answers a., b., ¢., and d. Only one of them is correct. Use
Blue/Black Ball point pen only for marking ydur answers.

Answer all questions. All questions carry equal marks.

Multiple answers for a question will be regarded as wrong answer.

Enter your Name and Roll Number correctly on the Question Booklet.

All entries in the OMR sheet should be with blue/black ball point pen only.

Darken the oval against which post you have applied for the examination.

Candidates are not permitted to carry any reference books, logarithm table, calculators, mobile phones
etc., to the Examination Hall.

Candidates are not permitted to leave the examination hall during the first hour of the examination.

At the end of the test, both Answer Sheet and Question Booklet shall be returned to the Invigilator.
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WA TIHET/ Government of India
37amigT Tawmr/Department of Space C
TersEH QRNTE 3iaeT F2/VIKRAM SARABHAI SPACE CENTRE

Terea=ag@/ Thiruvananthapuram-695022

dhAATA- &) (BfFHe dfuRex)/ Technician — B (Chemical Operator)

PrTeTRad # © BI-9T1 HUF T&l 787 27

a. S TGS YA THT OSB! BT QST 3 Sar 2 |

b. BIFATT Tl | TSP TEHuIsis S THMET 2 |

c. HHHOT VATA STETT & st = v 3 E |

d. QUATATCHA TSN Tl &7 IoTeH 2 |

Which of the following statement is incorrect?

a. Double salts give positive test for all its constituents
Complex salts contain coordinate covalent bonds

b
c. Transition elements form alloys easily
d. Paramagnetism is the property of unpaired protons

e T A ——————— ST TR0 T UaTe 2T 2 |
a. AT

b. FAFRMA

C, 3T“l

d. U]

Current flows in solutions through

a. lons

b. Electrons

c. Molecules
d. Atoms

SHTMATIT H TRIB ——— H grar 2 |
a. AT

b. TAlS

c. FoEGIATES

d. i st

In electrolysis oxidation takes place at
a. Cathode '

b. Anode

c. Electrolyte

d. Gelbridge
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4 amE T3
a. NH,NHCONHNH-:
b. NH.CONH:
c. NH,COCONH:
d. NHxCSNH:
The formula of Urea is
a. NHNHCONHNH:
b. NH:CONH:
c. NHCOCONH:
d. NH>CSNH-»

5. Ui P g 2 |
a. a3 T
b. e 3R 556
a

TSI 371 e
Brass is an alloy of
a. Copper and Tin
b. Copper and Zinc
c. Copper, Zinc and Tin
d. Copper and Nickel

6. SR TN H ——— & FuRa e sar 21
a. SlcT
‘b. UcPIEIA
C. ﬁ%@'ﬂﬂéﬁ
d. 3rd

Alkali metals are stored in
Water
Alcohol

Kerosene
. Acids

7. TATARET | B9-9T U 76T 49 Tot 27
a. JHE
b. e
c. glfeas
d. TifEaH
Which is not an inert gas?
Xenon
Krypton

Helium
Rubidium

o0 o

oo op
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10.

11.

teli=f e B —— A R e 2|

. TSI T[T
. TTH W TE AL
Allotropic form of elements differ in
a. Chemical properties
b. Physical properties
c. Optical properties
d. None

FIRXTTH ghar 2
qifeas
EarcepE)
DE L

s

Hard water contains
a. Sodium

b. Calcium

c. Uranium
d. Lead

T T T HIAATH ARTHT Bt —————— P 2 |
3 |

BT

[SERI

EALSERE]

Compounds which donate protons are called

a. Acids

b. Bases

c. Salts
d. Complexes

et T et T ST Yonelt §, ST AT & BN H TRadT $H3h [T THR $

oo TP

oo oo

ftpe uTT S1Td €, 39 Tt @t ey A 2|
a. @aﬁﬁwﬁmtr
b. Tafie dfew Rew
d. T 9 U ot 7El |

In IS system of limits & fits, where the different types of fits are obtained by
varying the size of shaft, the name given to the system is

a. Hole basis system

b. Limit basis system

c. Shaft basis system

d. None of these
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12,

13.

14.

CO/12

@30H7/49 T ATHSA H "H7’ — P groad T L |

a. g IMHR
b. 39 MHR
c. e
d. 33T

In case of @30H7/d9, the ‘H7’ indicates:

a. Holesize
b. Shaft size
c. Fit

d. Allowance

| fex e, 1 Hew a1 P A ¥ It e (T

2.7gm/cc) H/THR 21 '
a. 27 7.4

b. 2.7 T

c. 027 fwam

d. 1F%eam

Weight of aluminum sheet (density 2.7 gm/cc) of size 1 meter width, 1 meter
length and 1 mm thickness is

a. 27kg
b. 2.7kg
c. 027kg
d. 1kg

Tt HT BT IH 07 ToTrett 1 4T AT 2, R IueoT of gt Rty &

qaT Foretyr e § e strar 27
a. gaETed HE=oT

b. ¥l E=oT

c. T T

d. =99 ¥ T oY 78T

What is the name of the control system of the CNC machine in which the actual
position of the tool is compared with the input value?

Hydraulic control

Servo control

Pneumatic control

None of these

anop

_ Page 6 of 20 C



20 H7 &I & TS 158 I Y07 FAT 8 | T8 e & 17 {6 7, g 7 3w dem &
3SR & AT LT, 3T {67 AT AR BT SUFHT H(7
AT & gAY

b. AT ATERAIET
c.  TET HIAUT
d. & N ge

A hole of a diameter 20 H7 is to be finished. What measuring device will you
select to check whether the size of hole is within the limit or not

a. Limit plug gauge

b. Vernier micrometer
c.  Vernier caliper

d. Limit ring gauge

0.018 =T Tr9T== 0.003 H H1 |
a. 06

b. 18

c. 6

d 3

Divide 0.018 by 0.003

a. 0.6

b. 1.8

c. 6

d 3

ursd T I U THETE TR0 HT S

a. V34T

b. 3/2 T2

c. V3/6T2

d. V3T

Area of an equilateral triangle with side ‘a’
a. V3/4a2

b. 3/2a?

c. V3/6a?

d. V3a2
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18. U g &I R 66 AT 3| SHBT oy ——— R

a. 21 frAL

b. 42 TH.HT.

c. 33T4n

d. 11 .4

Circumference of a circle is 66 mm. Find its diameter
a. 21 mm

b. 42mm .

c. 33mm

d. 11 mm

19. HAg AR & T SUI g & 3T FH Tg=ma?
a. oS T FIOT T
b. ®I HIA BT FART
c. Taga sR&oT g™
d. TiES HITEWT, ST 90° 2

How do you recognize a drill for soft metal?
a. By thelarge helix angle

b. By the small helix angle

c. By the chisel edge angle

d. By the point angle which is 90°

20. UF FTE IUHT W T I HioT & T yeT R Sar |
a. T U & AT & forw
b. ¥ ugref & At & ferw
c. g UgRf F AT & fow
d. s & #eitf & fag

Zero rake angle is provided on a cutting tool for
Machining ductile material

Machining brittle material

Machining malleable material

Machining rubber

21, 10x12x 14 B F Y% HAL H T ST FHAAT S B FIIUEH AT 4T 27
a. 19.96 B

Do E

b. 1869 TIT

c. 2096 BT

d. 1796 BT

What is the maximum length of rod, which can be kept in a room of size 10 x 12 x 14
feet?

a. 19.96 feet

b. 18.69 feet

c. 20.96 feet

d. 17.96 feet
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22.

23.

24.

(25 +V5) (25 - V5)=

a. 420

b. 320

c. 620

d. 600
ferferfia Temoq I / 4y T Ao gl
5x +3y =14
2x+7y=23
a. 29/87
b. 52/87
c. 87/29
d. 52/92

The value of ‘y’ for the given simultaneous equation is

5x +3y =14
2x +7y =23
a. 29/87
b. 52/87
o 87/29
d. 52/92

T, <t T @ areat & qa v B s V {Te(e-n)(TE-d)(cE-E) s

e ST g, S8l T ———————— F e g |
a.  THEHT
b. TXa X

c. 1/3 (T+aT+ET)
d. ¥ (T+I+EY)

Area of a triangle having sides a, b & c is given by V[S(S-a)(S-b)(S-c)} where ‘'S’ is
equal to

a. a+b+c

b. axbxc

c. 1/3(a+b+c)

d. % (a+b+c)
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25.  Sin 30° x Cos? 45° + tan3 45° &1 Te
a. 6/4
b. 4/5
c. 5/4
7/4

The value of Sin 30° x Cos? 45° + tan3 45°
a. 6/4

b. 4/5
c. 5/4
d 7/4

26. AT 1/2 & = 1/3, & HTRTHA &7
4 25 *
b. 2

17

d. 15

£

If 1/2b=1/3. What is the value of b?
a. 2.5

b. 2
e 17
d. 15

27. e fog 32 ¥ @i R a% it gaaw gt ————— |
a. 158r
b. 33
c. 280
d. 258t

The minimum distance from the rivet hole centre to the plate edge is
1.5d

3d

2d

2.5d

0 7P
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28.

29,

30.

THHT e T T ISTET0T &
=T e
TR fUe

RwT fpe

Tkt ftpe

o P

a0

is an example of transition fit
Running fit
Expansion fit
Ringing fit
Shrinkage fit

a0 op

TaTyTe T5eT & gETg gl

Unit of specific gravity is
gm/cc

gm/c?

gm-s

None of the above

S

waﬁéqu@ﬁ@ww%wwwzﬁwﬁgm%ﬁﬁwﬁ

—————— FE 2

EES]

RELEEISI
AreteTT

d. ST

w o

n

The curve generated by a point on a circle when the circle rolls on a straight line is

Cycloid ’
Hyperbola
Parabola

Ellipse

a0 oe
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31.

32,

33,

CO/12

AT & T vgam 3w

a0 oo

2l
CO

CO2

Ha

HCl

The gas used in fire fighting is

a. - CO

b. CO2

c H

d. HCI

TeT # ddE &1 37— 2
a. WIUST TR T TRUH<

b. THAS WieTe [ IR

d. Rriehdt veeeT TeuH<

Meaning of PPE in safety is

a. Property Protective Equipment

b. Personal Protective Equipment

c. Personal Property Equipment

d. Preliminary Protective Equipment
T T BT FHIBT

a. PV-Constant

b. V/T=Constant

c. PV=nRT

d. V=kn

The equation for Charles law

a.

b
&
d

PV-Constant
V/T=Constant
PV=nRT
V=kn
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34.

29

36.

T eiiH & ITATOTTE ST 12 3 | 399 foha sty ain?

a. 12
b. 11
c. 13
d. 10

Atomic number of an element is 12. How many electrons does it contain?

a. 12
b. 11
c. 13

10

SR T fUietes e & e wifs 9§ o 82

a. Ul-=A1H

b. SI-s(®
| C. W-@\ﬂ%ﬁ
d. UB-sAH

Alkali metals belong to which block in the periodic table

a. p-block
b. d-block
¢. s-block
f-block
ST BT JTOTTTD WX 2l
a. 18
b. 9
e . 1T
d. 10
Molecular weight of water is
a. 18
b. 9
c. 17
d. 10

Page 13 of 20

CO/12



37  THSTH FARSS BT THTITE T 21

a. TEEUISTH Y
b.  3TTIAT 3TTEET
¢ ﬁié-‘?ﬁﬁ 3T
d.  oTicaes 37Tee
The chemical bond in sodium chloride is
a. covalent bond
b. ionicbond
c. coordinate bond
d. metallic bond
38, ——————— % TTATOT & BT WA T IUIRT par St 2 |
a. HNOs
b. NH;
c. HC
d. H3S04
Haber process is used for manufacturing of
a. HNO;
b. NH;
c. HCI
d. HS04
39. ST ETHAT ———— T OTEH |
a. @?T
b, =iar
c. wHiEEH
d. TH 9 TF Wl 71|
Rusting is a property of
a. Gold
b. Silver
c. Sodium
d. None
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40.

41.

42.

T Teh ISTELT & T |
FESIEAEE|
b. WX
C. mﬁ'@s@
d. W

=

Glucose is an example of

a. Hydrocarbon

b. [Ester
c. Carbohydrate
d. Ether

Fraferiaa o 9 S9-9T T TREE SEaEe 781 27
a. UM

b. =

c. BHEA

d. eiegeA

Which is not an aromatic compound ainong these?
a. Aniline

b. Benzene

c. Hexane
d. Toluene

ST AT F R H —— P 2
FELUI

b. 4O

c. ITH AT gdoT

d. TR UTa qUT g9

Distilled water preparation involves
a. Condensation

b. Evaporation

c. Evaporation and Condensation
d. Sublimation and Condensation

Page 15 of 20
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43. 400 & ST FTEHR —— B
a. 500 wT.
b. 400 .
c. 400 TH.I.
d. 500 Ta.am.

Weight of 400ml water is
a. 500g

b. 400g
c. 400mg
d. 500 mg

44, =R Rt <t # g srgReat ¥ @t sEw TeETE
a. QM
b. M
c. mﬁﬁﬁlﬁw
d. e S 3R AT we

If a compound contains some impurities, its melting point will
a. increase

b. decrease

¢. remain constant

d. increase first and then decrease

45.  TF UTH 9] N2 9w arf &
a. ST IATUTIH AT 28 2

b. IEH 6.023 x 102 TTH U] HATT &
c. TETEEMIH 224 T AT AT & |
d. ST §HT

One mole N2 gas means

a. Its molecular weight is 28

b. It contain 6.023x10% molecules
c. It occupies 22.4 L volume at STP
d. All the above
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46.

47.

48.

ST T T — 2

= R 75 o
b, 373°F
g, B73K
d. JU0E

Boiling point of water is

a. 373°C
b. 373°F
c. 373K
d. 100F
TTITITOT U 21
a. 9dg UEedr
b. b BAITHATT
HBHOT UEET
d. 37T uREeAr

Adsorption is a

a. Surface phenomenon

b. Bulk phenomenon

c. Transition phenomenon
d. Opaque phenomenon

SR ROT | WY wRT F, T F AT, Rt s d oRed A —

a. dr&+

b. IIMHIA

C. E‘éﬁmﬁq

d. Freaimor

Fe E|

Conversion of a compound to vapour phase from solid without melting is called

a. [Evaporation

b. Distillation
C, Sublimation.
d. Crystallization
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49.

50,

CO/12

gl | fathe ST &
a. WieH
b. g
c. AR
d. #HE

Isotopes contain different number of
a. Protons
b. Neutrons

Electrons

0

B

Mesons

Hreott & TURaiie® Sfae o et @

a. UIHATITTIS HIT
b. TIHTOTIIS TTAT
c. 2ATOTIIH |

d. 3TUTiees HLET

g 2l

WWW%&TW%I

In Mendeleev’s periodic table elements are classified based on

Atomic weight

a
b. Atomic number

&

Molecular weight

B

Molecular structure
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